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1. Donations to Prime Minister's National Relief

Fund is eligible for deduction upto :

(A) 25%

(B) 75%

(C) 100%

(D) 50%

2. Donation to Prime Minister's Drought Relief

is _____ eligible for deduction.

(A) 50%

(B) 75%

(C) 100%

(D) 25%

3. Which of  the following cannot claim

deduction in case of Donation to Political

parties?

(A) An Individual

(B) HUF

(C) Local  Authority

(D) All of the above

4. Interest earned in the contribution under

Sukanya Samriddhi Scheme is :

(A) Taxable

(B) Tax free

(C) 50% taxable

(D) None of these

5. Which of the following is allowed for

deduction?

(A) NSC

(B) PPF

(C) Payment for health insurance

(D) All of the above

1. iz/kkuea=h jk"Vªh; vkink dks"k esa fn;k x;k
nku &&&&& dVkSrh gsrq vgZ gSA

(A) 25%

(B) 75%

(C) 100%

(D) 50%

2. iz/kkuea=h lw[kk jkgrdks"k esa nku &&&&& dVkSrh
gsrq vgZ gSA

(A) 50%

(B) 75%

(C) 100%

(D) 25%

3. fuEufyf[kr esa ls dkSu jktuhfrd ny dks
fn;s x;s nku esa dVkSrh dk nkok ugha dj
ldrk gS\
(A) O;fDr
(B) fgUnw vfoHkkT; ifjokj
(C) LFkkuh; fudk;
(D) mijksDr lHkh

4. lqdU;k lèf) ;kstuk ds vUrxZr va'knku
ij vftZr C;kt %

(A) dj ;ksX; gS

(B) djeqDr gS

(C) 50% dj ;ksX; gS

(D) buesa ls dksbZ ugha

5. fuEufyf[kr esa ls dkSu dVkSrh gsrq vuqeU;
gS\

(A) ,u,llh

(B) ihih,Q

(C) LokLF; chek gsrq Hkqxrku

(D) mijksDr lHkh

[P.T.O.]
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6. Deduction from income from house property

is given in :

(A) Section 22

(B) Section 24

(C) Section 26

(D) Section 27

7. CIT Vs. Premnath Motors (Raj.) P.Ltd. (2007)

case is related to :

(A) Income from house property

(B) Income from salary

(C) Income from other sources

(D) None of these

8. The term 'Business' does not include :

(A) Trade

(B) Profession

(C) Commerce

(D) All of the above

9. The term 'Business' is defined in :

(A) Section 2(10)

(B) Section 2(13)

(C) Section 2(14)

(D) Section 2(31)

10. Interest on delayed Payments of Contract

receipt is business income. It was laid down

by the Supreme Court of India in :

(A) P.N. Shukla Vs. CIT

(B) T.A. Abdul Khader Vs. CWT

(C) CIT Vs. Govinda Chowdhury and

Sons

(D) Mysore Minerals Ltd. Vs. CIT

6. Hkou lEifRr ls izkIr dVkSrh @ NwV nh x;h
gS %

(A) /kkjk 22 esa

(B) /kkjk 24 esa

(C) /kkjk 26 esa

(D) /kkjk 27 esa

7. lh-vkbZ-Vh- cuke izseukFk eksVlZ ¼jkt-½ izk-
fy- (2007) okn lEcfU/kr gS %

(A) x̀g lEifRr ls vk;

(B) osru ls vk;

(C) vU; lzksrksa ls vk;

(D) buesa ls dksbZ ugha

8. ^O;olk;* 'kCn esa lfEefyr ugha gS %

(A) O;kikj

(B) is'kk

(C) okf.kT;

(D) mijksDr lHkh

9. ^O;olk;* 'kCn ifjHkkf"kr fd;k x;k gS %

(A) /kkjk 2(10) esa

(B) /kkjk 2(13) esa

(C) /kkjk 2(14) esa

(D) /kkjk 2(31) esa

10. lafonk izkfIr ds nsj ls Hkqxrku ij feyus
okyk C;kt O;kolkf;d vk; gSA Hkkjr ds
loksZPp U;k;ky; us ;g vfHkfu/kkZfjr fd;k %

(A) ih-,u- 'kqDy cuke lhvkbZVh

(B) Vh-,- vCnqy dkfnj cuke lhMCY;wVh

(C) lh-vkbZ-Vh- cuke xksfoUn pkS/kjh ,.M
lUl

(D) eSlwj feujYl fy- cuke lhvkbZVh
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11. Capital gains may be :

(A) Short-term

(B) Long-term

(C) Both (A) and (B)

(D) None of these

12. Capital Assets is defined in :

(A) Section 2(10)

(B) Section 2(12)

(C) Section 2(13)

(D) Section 2(14)

13. The Finance Act, 2012 was introduced after

the decision in :

(A) Seth Brothers case

(B) Maharaja Rana Hemant Singhji Vs.

CIT

(C) Vodafone case

(D) None of these

14. Which of the following capital gains is

taxable at lower rate?

(A) Short-term

(B) Long-term

(C) Gift

(D) None of these

15. Transfer does not include :

(A) Sale

(B) Exchange

(C) Extinguishment

(D) None of these

11. iw¡th ykHk gks ldrk gS %

(A) vYikof/k

(B) nh?kZdkfyd

(C) nksuksa  (A) rFkk (B)

(D) buesa ls dksbZ ugha

12. iw¡th lEifRr ifjHkkf"kr gS %

(A) /kkjk 2(10) esa

(B) /kkjk 2(12) esa

(C) /kkjk 2(13) esa

(D) /kkjk 2(14) esa

13. fdl fu.kZ; ds i'pkr foRr vf/kfu;e] 2012

dks yk;k x;k\

(A) lsB cznlZ okn

(B) egkjktk jktk gseUr flagth cuke
lhvkbZVh

(C) oksMkQksu okn

(D) buesa ls dksbZ ugha

14. fuEufyf[kr esa ls dkSu&lk iw¡th ykHk de nj
ij dj ;ksX; gS\

(A) y?kq vof/k

(B) nh?kZ vof/k

(C) migkj

(D) buesa ls dksbZ ugha

15. vUrj.k esa lfEefyr ugha gS %

(A) foØ;

(B) fofue;

(C) vf/kdkj dk R;kx

(D) buesa ls dksbZ ugha

[P.T.O.]
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16. Municipal Corporation, Kanpur is :

(A) An Individual

(B) AOP

(C) BOI

(D) Local  Authority

17. Which of the following deduction(s) is/are

allowed u/s 80C?

(A) LIC premium

(B) Contribution to PF

(C) Tuition Fee

(D) All of the above

18. Deduction of LIC premium can be claimed

in case of HUF by :

(A) Karta only

(B) Male only

(C) Female only

(D) Any member

19. Section 80D is related to :

(A) Medical Health Insurance

(B) LIC Premium

(C) Rajiv Gandhi Equity Scheme

(D) All of the above

20. Deduction in case of a person with disability

is given under :

(A) Section 80D

(B) Section 80U

(C) Section 80 TTB

(D) Section 80G

16. egkuxjikfydk] dkuiqj gS %

(A) O;fDr

(B) ,-vks-ih-

(C) ch-vks-vkbZ-

(D) LFkkuh; fudk;

17. fuEufyf[kr esa ls dkSu&lk@ls dVkSrh /kkjk
80C esa vuqeU; gS\

(A) ,yvkbZlh izhfe;e

(B) ih,Q esa ;ksxnku

(C) V~;w'ku Qh

(D) mijksDr lHkh

18. ,yvkbZlh izhfe;e dh dVkSrh fgUnw vfoHkkftr
ifjokj esa nkok dh tk ldrh gS %

(A) dsoy drkZ }kjk

(B) dsoy iq#"k }kjk

(C) dsoy efgyk }kjk

(D) fdlh lnL; }kjk

19. /kkjk  80D lEcfU/kr gS %

(A) fpfdRldh; LokLF; chek

(B) ,yvkbZlh izhfe;e

(C) jktho xk¡/kh bfDoVh ;kstuk

(D) mijksDr lHkh

20. 'kkjhfjd viax O;fDr gsrq dVkSrh nh xbZ gS]
vUrxZr %

(A) /kkjk 80D esa

(B) /kkjk 80U esa

(C) /kkjk 80 TTB esa

(D) /kkjk 80 G esa
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21. Mercantile System of Accounting is :

(A) Receipt basis

(B) Accrual basis

(C) Both (A) and (B)

(D) None of these

22. Which of the following deductions is not

allowed  under the head 'Income from profit

and gains from business or profession'?

(A) Rent of premises

(B) Capital expenditure in other

business

(C) Amount of Repairs

(D) Municipal taxes

23. Depreciation is in :

(A) Section 32

(B) Section 33

(C) Section 34

(D) Section 36

24. Depreciation is available on :

(A) Tangible Assets

(B) Intangible Assets

(C) Both (A) and (B)

(D) None of these

25. General Deduction is allowed under :

(A) Section 37

(B) Section 40

(C) Section 40A

(D) Section 40B

21. ys[kkadu dh O;kikfjd iz.kkyh gS %

(A) izkfIr dk vk/kkj

(B) izksöou vk/kkj

(C) nksuksa (A) rFkk (B)

(D) buesa ls dksbZ ugha

22. fuEufyf[kr esa ls dkSu&lh dVkSrh@NwV O;kikj
;k is'kk ls izkIr ykHk ,oa izkfIr dh vk; ds
'kh"kZd esa vuqeU; ugha gS\

(A) ifjljksa dk fdjk;k

(B) vU; O;kikj ij iw¡th [kpZ

(C) ejEer dh jkf'k

(D) uxjikfydk dj

23. ewY;gzkl gS %

(A) /kkjk 32 esa

(B) /kkjk 33 esa

(C) /kkjk 34 esa

(D) /kkjk 36 esa

24. ewY;gzkl miyC/k gS %

(A) ewrZ laifRr ij

(B) vewrZ laifRr ij

(C) nksuksa  (A) rFkk (B)

(D) buesa ls dksbZ ugha

25. lkekU; dVkSrh dh vuqefr gS %

(A) /kkjk ds 37 ds vUrxZr

(B) /kkjk ds 40 ds vUrxZr

(C) /kkjk ds 40A ds vUrxZr

(D) /kkjk ds 40B ds vUrxZr
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26. Which of the following case is not related to

Income from other sources?

(A) East West Hotels Ltd. Vs. Deputy

CIT (2009)

(B) CIT Vs. Autokast Ltd. (2001)

(C) Malabar Industrial Co. Ltd. Vs. CIT

(2000)

(D) None of these

27. Amount specified under Section 40A is :

(A) Not deductible

(B) Deductible

(C) Tax free

(D) None of these

28. Which of the following is taxable under the

head 'Income from other sources'?

(A) Dividends

(B) Winning from Card game

(C) Winning from horse races

(D) All of the above

29. The idea of GST was first mooted by :

(A) Wanchoo Committee

(B) Santhanam Committee

(C) Kelkar Committee

(D) Malhotra Committee

30. The product(s) kept outside the GST

is / are :

(A) Alcohol

(B) Motor spirit

(C) Crude

(D) All of the above

26. fuEufyf[kr esa ls dkSu&lk okn vU; lzksrksa ls
izkIr vk; ls lEcfU/kr ugha gS\

(A) bZLV osLV gksVy fy- cuke fMIVh
lhvkbZVh (2009)

(B) lhvkbZVh cuke vkWVksdkWLV fy- (2001)

(C) ekykckj b.MfLVª;y da- fy- cuke
lhvkbZVh (2000)

(D) buesa ls dksbZ ugha

27. /kkjk 40A esa fofufnZ"V jde %

(A) dVkSrh ;ksX; ugha gS

(B) dVkSrh ;ksX; gS

(C) djeqDr gS

(D) buesa ls dksbZ ugha

28. fuEufyf[kr esa ls dkSu ^vU; lzksrksa ls izkIr
vk;* ds 'kh"kZd ds vUrxZr dj ;ksX; gSa\

(A) ykHkka'k

(B) dkMZ xse ls thrk gqvk

(C) ?kqM+nkSM+ ls thrk gqvk

(D) mijksDr lHkh

29. th,lVh dk fopkj izFke ckj yk;k x;k Fkk %

(A) okapw lfefr }kjk

(B) laFkkue lfefr }kjk

(C) dsydj lfefr }kjk

(D) eYgks=k lfefr }kjk

30. th,lVh ls ckgj j[ks x;s mRikn gSa %

(A) ,Ydksgy

(B) eksVj fLizV

(C) ØwM

(D) mijksDr lHkh
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31. Pension may be :

(A) a lump sum payment

(B) a periodical payment

(C) Both (A) and (B)

(D) None of these

32. Uncommuted pension is :

(A) tax free

(B) fully taxable

(C) partly taxable

(D) None of these

33. Education Allowance is not permissible

for :

(A) Son

(B) Adopted son

(C) Grandson

(D) Adopted daughter

34. Deduction from HRA depends on

employee's :

(A) Salary

(B) Place of residence

(C) Rent paid by the employee

(D) All of the above

35. House Rent Allowance exemption is given

under :

(A) Section 10(13A)

(B) Section 10(2)

(C) Section 10(10)

(D) Section 17(1)

31. isa'ku gks ldrh gS %

(A) ,d ,deq'r Hkqxrku

(B) ,d vkof/kd Hkqxrku

(C) nksuksa (A) rFkk (B)

(D) buesa ls dksbZ ugha

32. v:ikUrfjr isa'ku %

(A) djeqDr gS

(B) iw.kZr% dj ;ksX; gS

(C) vkaf'kd dj ;ksX; gS

(D) buesa ls dksbZ ugha

33. f'k{kk HkRrk vuqeU; ugha gS %

(A) iq= ds fy,

(B) nRrd iq= ds fy,

(C) ikS= ds fy,

(D) nRrd iq=h ds fy,

34. ,p-vkj-,- esa dVkSrh ¼NwV½ deZpkjh dks
fuHkZj djrk gS %

(A) osru ij

(B) fuokl LFkku

(C) deZpkjh }kjk fdjk;k vnk djus ij

(D) mijksDr lHkh

35. Hkou fdjk;k HkRrk NwV fn;k x;k gS]
vUrxZr %

(A) /kkjk 10(13A)

(B) /kkjk 10(2)

(C) /kkjk 10(10)

(D) /kkjk 17(1)

[P.T.O.]
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36. Which of the following is not designated as

'Appeal'?

(A) CIT

(B) Additional CIT

(C) Deputy CIT

(D) Assistant CIT

37. "Politics is a Profession." The Court laid

down in :

(A) CIT Vs. Raju

(B) CIT Vs. Manmohan Das

(C) Laxmi Narayan Ram Gopal case

(D) None of these

38. Which of the following is not included in

Profession?

(A) Teaching of Vedanta

(B) Medical practise

(C) Conducting Satsang

(D) None of these

39. Business loss should be :

(A) Notional

(B) Fictious

(C) Real

(D) Imaginary

40. Loss on an account of Robbery may

be _____.

(A) Business loss

(B) No loss

(C) Loss under the head capital gains

(D) None of these

36. fuEufyf[kr esa ls fdls vihy ds :i esa
fu/kkZfjr ugha fd;k x;k gS\

(A) lhvkbZVh

(B) ,fM'kuy lhvkbZVh

(C) fMIVh lhvkbZVh

(D) vflLVsaV lhvkbZVh

37. ^^jktuhfr ,d is'kk gSA** U;k;ky; us ;g
vfHkfu/kkZfjr fd;k %

(A) lhvkbZVh cuke jktw esa

(B) lhvkbZVh cuke eueksgu nkl esa

(C) y{eh ukjk;.k jke xksiky okn esa

(D) buesa ls dksbZ ugha

38. fuEufyf[kr esa ls dkSu is'kk esa lfEefyr ugha
gS\

(A) osnkUr dk v/;kiu

(B) esfMdy izSfDVl

(C) lrlax djuk

(D) buesa ls dksbZ ugha

39. O;kikj ?kkVk gksuk pkfg, %

(A) vuqekfur

(B) cukoVh

(C) okLrfod

(D) dkYifud

40. ywV dh otg ls gqbZ gkfu gks ldrh gS %

(A) O;kikj ?kkVk

(B) dksbZ uqdlku ugha

(C) iw¡th ykHk 'kh"kZd ds vUrxZr gkfu

(D) buesa ls dksbZ ugha
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41. The Chapter XXI of Income Tax Act, 1961 is

related to :

(A) Assessment

(B) Penalty

(C) Return

(D) All of the above

42. The provisions relating to prosecution is

given under :

(A) Chapter XXI

(B) Chapter XXII

(C) Chapter XXIV

(D) Chapter XXVI

43. An Assets held for more than 36 months is :

(A) Short-term capital assets

(B) Long-term capital assests

(C) Both (A) and (B)

(D) None of these

44. Income Tax is :

(A) Progressive tax

(B) Indirect tax

(C) Direct tax

(D) Both (A) and (C)

45. In case of Bonus share, the cost of

Acquisition will be :

(A) Nil

(B) Cost of the previous owner

(C) 50% of cost of the previous owner

(D) None of these

41. vk;dj vf/kfu;e] 1961 dk v/;k; XXI

lEcfU/kr gS %

(A) dj&fu/kkZj.k ls

(B) 'kkfLr ls

(C) fjVuZ ls

(D) mijksDr lHkh

42. vfHk;kstu ls lEcfU/kr izko/kku fn;s x;s
gSa %

(A) v/;k; XXI esa

(B) v/;k;  XXII esa

(C) v/;k; XXIV esa

(D) v/;k; XXVI esa

43. 36 eghuksa ls vf/kd le; rd j[kh x;h
lEifRr gS %

(A) y?kq vof/k iw¡th lEifRr

(B) nh?kZ vof/k iw¡th lEifRr

(C) nksuksa (A) rFkk (B)

(D) buesa ls dksbZ ugha

44. vk;dj gS %

(A) izxfr'khy dj

(B) vizR;{k dj

(C) izR;{k dj

(D) nksuksa (A) rFkk (C)

45. cksul 'ks;j dh fLFkfr esa] vftZr djus dh
ykxr gksxh %

(A) 'kwU;

(B) iwoZorhZ Lokeh dh ykxr

(C) iwoZorhZ Lokeh dh ykxr dk 50%

(D) buesa ls dksbZ ugha

[P.T.O.]
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46. Provisions relating to deduction are given

under :

(A) Chapter V

(B) Chapter V-A

(C) Chapter VI-A

(D) Chapter X

47. Income from lotteries is ____ for deduction.

(A) available

(B) not available

(C) partly available

(D) None of these

48. Deductions are not available from :

(A) Long-term capital gains

(B) Short-term capital gains

(C) Both (A) and (B)

(D) None of these

49. The aggregate amount of deduction under

Chapter VI-A cannot exceed :

(A) Basic Salary

(B) Gross total income

(C) Dearness  Allowance

(D) None of these

50. Salary from past Employer is taxable under

the head :

(A) Income from other sources

(B) Income from capital gains

(C) Both (A) and (B)

(D) Income from Salary

46. dVkSrh ls lEcfU/kr izko/kku fn;s x;s gSa %

(A) v/;k; V esa

(B) v/;k; V-A esa

(C) v/;k; VI-A esa

(D) v/;k; X esa

47. ykWVjh ls izkIr vk; dVkSrh gsrq &&&&& gSA

(A) miyC/k

(B) miyC/k ugha

(C) vkaf'kd miyC/k

(D) buesa ls dksbZ ugha

48. dVkSfr;k¡ &&&&& gsrq miyC/k ugha gaSA

(A) nh?kZdkfyd iw¡th ykHk

(B) y?kq vof/k iw¡th ykHk

(C) nksuksa  (A) vkSj (B)

(D) buesa ls dksbZ ugha

49. v/;k; VI-A ds vUrxZr ldy tek iw¡th
vf/kd ugha gks ldrh gS %

(A) ewy osru ls

(B) ldy dqy vk; ls

(C) egaxkbZ HkRrk ls

(D) buesa ls dksbZ ugha

50. iwoZ ds fu;kstd ls izkIr osru &&&&& 'kh"kZd
ds vUrxZr djk/khu gksxkA

(A) vU; lzksrksa ls izkIr vk;

(B) iw¡th ykHk ls izkIr vk;

(C) nksuksa (A) vkSj (B)

(D) osru ls izkIr vk;
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51. Income Tax Act,1961 contains :

(A) X Schedules

(B) IX Schedules

(C) XVI Schedules

(D) XIV Schedules

52. Foreign Income means :

(A) Income accrued in India

(B) Income accrued outside India

(C) Income received in India

(D) Income deemed to received in

India.

53. Which of the following is not a Head of

Income?

(A) Income from salary

(B) Income from house property

(C) Income from capital gains

(D) None of these

54. Which of the following is/are Indirect Tax?

(A) Service Tax

(B) VAT

(C) GST

(D) All of the above

55. GST is levied by :

(A) State Governments only

(B) Central Government only

(C) Both state government and local

authority

(D) Local  Authority

51. vk;dj vf/kfu;e]1961 esa gSa %

(A) X vuqlwfp;k¡

(B) IX vuqlwfp;k¡

(C) XVI  vuqlwfp;k¡

(D) XIV vuqlwfp;k¡

52. fons'kh vk; dk vFkZ gS %

(A) Hkkjr esa mikftZr vk;

(B) Hkkjr ds ckgj mikftZr vk;

(C) Hkkjr esa izkIr vk;

(D) Hkkjr esa izkIr gksuh ekuh tkus okyh
vk;

53. fuEufyf[kr esa ls dkSu vk; 'kh"kZ ugha gS\

(A) osru ls izkIr vk;

(B) x̀g lEifRr ls izkIr vk;

(C) iw¡th ykHk ls izkIr vk;

(D) buesa ls dksbZ ugha

54. fuEufyf[kr esa ls dkSu vizR;{k dj gS@gSa\

(A) lsokdj

(B) oSV

(C) th,lVh

(D) mijksDr lHkh

55. th,lVh yxk;k tkrk gS %

(A) dsoy jkT; ljdkjksa }kjk

(B) dsoy dsUnz ljdkj }kjk

(C) nksukas jkT; ljdkj ,oa LFkkuh; fudk;
}kjk

(D) LFkkuh; fudk; }kjk

[P.T.O.]
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56. A year in which income is earned is known

as :

(A) Assessment year

(B) Previous year

(C) Annual period

(D) None of these

57. Payment of income tax is :

(A) Optional

(B) Compulsory for government

servants only

(C) Compulsory for male persons only

(D) Compulsory if the income exceeds

the exemption limit

58. Assessment year can be a period of :

(A) 12 months (B) 6 months

(C) 9 months (D) 24 months

59. Which of the following is not included in the

term 'Person'?

(A) Company

(B) HUF

(C) Muslim Family

(D) Firm

60. Which of the following is illegal?

(A) Tax evasion

(B) Tax planning

(C) Tax avoidance

(D) Tax saving

56. ,d o"kZ ftlesa vk; vftZr dh tkrh gS mls
tkuk tkrk gS %

(A) dj&fu/kkZj.k o"kZ ds :i esa

(B) xr o"kZ ds :i esa

(C) okf"kZd vof/k ds :i esa

(D) buesa ls dksbZ ugha

57. vk;dj dk Hkqxrku djuk %

(A) oSdfYid gS

(B) dsoy ljdkjh lsod ds fy, vfuok;Z
gS

(C) dsoy iq#"k O;fDr;ksa ds fy, vfuok;Z
gS

(D) vfuok;Z gS ;fn vk; djeqDr lhek
ls vf/kd gS

58. dj&fu/kkZj.k o"kZ fdrus vof/k dk gks ldrk
gS\
(A) 12 ekg (B)  6 ekg
(C) 9 ekg (D) 24 ekg

59. fuEufyf[kr esa ls dkSu&lk in ^^O;fDr** esa
lfEefyr ugha gS\

(A) dEiuh

(B) la;qDr fgUnw ifjokj

(C) eqfLye ifjokj

(D) QeZ

60. fuEufyf[kr esa ls dkSu&lk voS/k gS\

(A) dj vioapu

(B) dj ;kstuk

(C) dj ifjgkj

(D) dj cpkuk
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61. The exemption on HRA can be claimed :

(A) Fully only

(B) Fully or partially

(C) Partially only

(D) None of these

62. Transportation allowance is :

(A) Fully exempted

(B) Partly exempted

(C) Fully taxable

(D) All of the above

63. Salary is chargeable to tax on a :

(A) due basis

(B) receipt basis

(C) exchange

(D) due basis or receipt whichever is

earlier

64. Deduction from salary is allowed under :

(A) Section 16

(B) Section 15

(C) Section 17

(D) Section 14

65. Education allowance exemption is allowed

upto :

(A) 2 children

(B) Single girl child

(C) Single child

(D) No limit

61. ,p-vkj-,- ij NwV dk nkok fd;k tk ldrk
gS %

(A) dsoy iw.kZr%

(B) iw.kZr% ;k vkaf'kd

(C) dsoy vkaf'kd

(D) buesa ls dksbZ ugha

62. ;k=k HkRrk gS %

(A) iw.kZr% NwV izkIr

(B) vkaf'kd NwV izkIr

(C) iw.kZr% dj ;ksX;

(D) mijksDr lHkh

63. osru dj ;ksX; vk; gS %

(A) ns; vk/kkj ij

(B) izkfIr vk/kkj ij

(C) fofue; ij

(D) ns; ;k izkfIr vk/kkj tks Hkh igys gks

64. osru ls dVkSrh vuqeU; gS %

(A) /kkjk 16 ds vUrxZr

(B) /kkjk 15 ds vUrxZr

(C) /kkjk 17 ds vUrxZr

(D) /kkjk 14 ds vUrxZr

65. f'k{kk HkRrk NwV vuqeU; gS %

(A) 2 cPpksa rd

(B) ,d yM+dh gksus ij

(C) ,dy cPpk gksus ij

(D) dksbZ lhek ugha

[P.T.O.]
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66. Section 23(1) of the Income Tax Act,1961

defines :

(A) Capital Value

(B) Capital Assets

(C) Annual Value

(D) Annual Assets

67. Mr. Z owns a house property. He Rent it to Mr.

K at   25,000/- per month. Such income of 'Z'

is taxable under the head :

(A) Income from salary

(B) Income from other sources

(C) Income from capital geins

(D) Income from house property

68. Which of the following house property is

exempted from taxation?

(A) Self-occupied house

(B) House given on fair rent

(C) House other than self-occupied

house

(D) None of these

69. Under the Head 'Income from House', the

basis of charge is :

(A) Half of the  annual value

(B) Annual value

(C) Quarterly value

(D) Capital value

70. Who is Deemed owner ?

(A) A person who owns a house

(B) A person who transfer house with

adequate consideration

(C) A person who transfer house to his

wife without consideration

(D) None of these

66. vk;dj vf/kfu;e]1961 dh /kkjk 23(1)

ifjHkkf"kr djrh gS %
(A) iw¡th ewY;
(B) iw¡th lEifRr
(C) okf"kZd ewY;
(D) okf"kZd lEifRr

67. fe- Z ds ikl xg̀ lEifRr gSA og mls fe- K

dks  25,000/- izfrekg ds fdjk;s ij ns nsrk
gSA 'Z' dh bl vk; ij fdl 'kh"kZ ds rgr
dj yxk;k tk,xk\
(A) osru ls izkIr vk;
(B) vU; lzksrksa ls izkIr vk;
(C) iw¡th ykHk ls izkIr vk;
(D) x̀g lEifRr ls izkIr vk;

68. fuEufyf[kr esa ls dkSu&lh x`g lEifRr
djk/kku ls eqDr gS\

(A) Lokf/kdkj Hkou

(B) lgh fdjk;s ij fn;k x;k Hkou

(C) Lokf/kdkj Hkou ds vfrfjDr Hkou

(D) buesa ls dksbZ ugha
69. x̀g lEifRr ls izkIr vk; ds vUrxZr] dj dk

vk/kkj gS %
(A) okf"kZd ewY; dk vk/kk
(B) okf"kZd ewY;
(C) ,d&pkSFkkbZ ewY;
(D) iw¡th ewY;

70. ekus tkus okyk ekfyd dkSu gS\
(A) ,d O;fDr ftlds ikl Hkou gS
(B) ,d O;fDr tks i;kZIr izfrQy ds

lkFk Hkou dk varj.k djrk gS
(C) ,d O;fDr tks fcuk fdlh izfrQy

ds viuh iRuh dks Hkou dk varj.k
djrk gS

(D) buesa ls dksbZ ugha
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71. Which of the following is an unit for Taxation?

(A) Local Authority

(B) Citizen

(C) Indian National

(D) Officer

72. First Previous year in case of business

newly set-up on 20.10.2021 would be :

(A) 20.10.2021 to 31.03.2023

(B) 20.10.2021 to 31.03.2022

(C) 20.10.2021 to 19.10.2022

(D) 01.04.2021 to  31.03.2022

73. For the Assessment year 2021-22, the

Previous year would be :

(A) 2019-20 (B) 2022-23

(C) 2021-22 (D) 2020-21

74. In which of the following cases, income of

Previous year is assessable in the Previous

year itself?

(A) A person is in employment in India

(B) A person who is doing many

businesses

(C) A person leaving India as a member

of crew

(D) None of these

75. A Financial year may be :

(A) Previous year

(B) Assessment year

(C) Both (A) and (B)

(D) None of these

71. fuEufyf[kr esa ls dkSu djk/kku gsrq ,d
bdkbZ gS\
(A) LFkkuh; fudk;
(B) ukxfjd
(C) Hkkjrh; ukxfjd
(D) vf/kdkjh

72. izFke xr o"kZ tgk¡ u;k O;kikj 20.10.2021

dks yxk;k x;k] gksxk %

(A) 20.10.2021 ls 31.03.2023

(B) 20.10.2021 ls 31.03.2022

(C) 20.10.2021 ls 19.10.2022

(D) 01.04.2021 ls  31.03.2022

73. dj&fu/kkZj.k o"kZ 2021-22 ds fy, xr o"kZ
gksxk %

(A) 2019-20 (B) 2022-23

(C) 2021-22 (D) 2020-21

74. fuEufyf[kr esa ls fdl fLFkfr esa] xr o"kZ dh
vk; dk xr o"kZ esa gh dj fu/kkZj.k djrs
gSa\

(A) Hkkjr esa ukSdjh djus okyk O;fDr

(B) ,d O;fDr tks dbZ O;kikj dj jgk gS

(C) ,d Øw lnL; ds :i esa Hkkjr NksM+dj
tk jgk O;fDr

(D) buesa ls dksbZ ugha

75. ,d foRrh; o"kZ gks ldrk gS %

(A) xr o"kZ

(B) dj&fu/kkZj.k o"kZ

(C) nksuksa (A) rFkk (B)

(D) buesa ls dksbZ ugha

[P.T.O.]
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76. Gross Annual value minus (–) Municipal Tax

is :

(A) Net annual value

(B) Standard value

(C) Income from House property

(D) Standard Rent

77. Under the head 'Income from Salary',

entertainment tax deduction is permissible

only to :

(A) Private employee

(B) Businessman

(C) Government employees

(D) All of the above

78. The salary of Member of Parliament is

taxable under the head Income from :

(A) Capital gains

(B) Other sources

(C) Salary

(D) Profits and Gains

79. An individual has ______ types of residential

status.

(A) 3

(B) 2

(C) 4

(D) 1

80. Assessment year is defined in :

(A) Section 2(7)

(B) Section 2(13)

(C) Section 3

(D) Section 2(9)

76. ldy okf"kZd ewY; ekbul (–) uxjikfydk
dj gS %

(A) 'kq) okf"kZd ewY;

(B) ekud ewY;

(C) x̀g lEifRr ls izkIr vk;

(D) ekud fdjk;k

77. ^osru ls izkIr vk;* 'kh"kZd ds vUrxZr euksjatu
dj dVkSrh vuqeU; gS dsoy %

(A) futh deZpkfj;ksa dks

(B) O;kikfj;ksa dks

(C) ljdkjh deZpkfj;ksa dks

(D) mijksDr lHkh

78. laln ds lnL; ds osru ij djk/kku fdl
'kh"kZd dh vk; ls gS\

(A) iw¡th ykHk

(B) vU; lzksrksa

(C) osru

(D) ykHk vkSj vfHkykHk

79. ,d O;fDr dh vkoklh; fLFkfr &&&&& izdkj
dh gksrh gSA

(A) 3

(B) 2

(C) 4

(D) 1

80. dj&fu/kkZj.k o"kZ ifjHkkf"kr gS %

(A) /kkjk 2(7) esa

(B) /kkjk 2(13) esa

(C) /kkjk 3 esa

(D) /kkjk 2(9) esa
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81. GST has replaced the :

(A) VAT

(B) Income tax

(C) Local sales tax

(D) None of these

82. GST is :

(A) Goods and Sales tax

(B) Goods and Supply tax

(C) Goods and Services tax

(D) Government Service tax

83. In India, GST became effective from :

(A) July 2, 2017

(B) July 1, 2017

(C) July 10, 2017

(D) July 1, 2018

84. India has chosen ______ model of Dual-

GST.

(A) Japan

(B) USA

(C) Canadian

(D) Russian

85. In India, GST is :

(A) Comprehensive

(B) Multi-stage

(C) Development based

(D) Both (A) and (B)

81. th,lVh us LFkku fy;k %

(A) oSV dk

(B) vk;dj dk

(C) LFkkuh; foØ; dj

(D) buesa ls dksbZ ugha

82. th,lVh gS %

(A) eky ,oa foØ; dj

(B) eky ,oa vkiwfrZ dj

(C) eky ,oa lsok dj

(D) ljdkjh lsok dj

83. Hkkjr esa th,lVh izHkkoh gqvk %

(A) tqykbZ 2, 2017 ls

(B) tqykbZ 1, 2017 ls

(C) tqykbZ 10, 2017 ls

(D) tqykbZ 1, 2018 ls

84. Hkkjr us  nksgjk&th,lVh dk&&&&& ekWMy
pquk gSA

(A) tkiku

(B) ;w,l,

(C) dSusfM;u

(D) :lh

85. Hkkjr esa th,lVh gS %

(A) O;kid

(B) cgqLrjh;

(C) fodkl vk/kkfjr

(D) nksuksa (A) vkSj (B)
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86. Income tax is a/an :

(A) Indirect Tax

(B) Fee

(C) Direct Tax

(D) Surcharge

87. The Parliament has power to levy tax on

income other than :

(A) Income from other sources

(B) Agriculture income

(C) Income of poor people

(D) None of these

88. Which of the following is the highest Income

Tax  Authority?

(A) CBDT

(B) Director of Income Tax

(C) Commissioner of Income Tax

(D) Chief CIT

89. As per Section 2(24) definition of 'Income'

is :

(A) Inclusive

(B) Exclusive

(C) Exhaustive

(D) None of these

90. Income Tax Act,1961 contains :

(A) 292 Sections

(B) 298 Sections

(C) 297 Sections

(D) 300 Sections

86. vk;dj gS %

(A) vizR;{k dj

(B) 'kqYd

(C) izR;{k dj

(D) ljpktZ

87. laln dks vk; ij dj yxkus dh 'kfDr gS
flok; %

(A) vU; lzksrksa ls izkIr vk; ds

(B) d`f"k vk; ds

(C) xjhc O;fDr dh vk; ds

(D) buesa ls dksbZ ugha

88. fuEufyf[kr esa ls dkSu mPpre vk;dj
izkf/kdkjh gS\

(A) lhchMhVh

(B) vk;dj funs'kd

(C) vk;dj vk;qDr

(D) eq[; vk;dj vk;qDr

89. /kkjk 2(24) ds vuqlkj ^^vk;** dh ifjHkk"kk
gS %

(A) lekos'kh

(B) vuU;

(C) laiw.kZ @ foLrr̀

(D) buesa ls dksbZ ugha

90. vk;dj vf/kfu;e]1961 esa gSa %

(A) 292 /kkjk,a

(B) 298 /kkjk,a

(C) 297 /kkjk,a

(D) 300 /kkjk,a
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91. GST has not subsumed :

(A) Stamp duty

(B) VAT

(C) Entry tax

(D) Entertainment  tax

92. IGST is payable when the supply is :

(A) Interstate

(B) Intra-state

(C) Intra-Union territories

(D) All of the above

93. "Quid Pro Quo" is required in case of :

(A) Direct  tax

(B) Indirect tax

(C) Fee

(D) Cess

94. Which of the following is legal but immoral?

(A) Tax evasion

(B) Tax avoidance

(C) Tax planning

(D) Money theft

95. Rate of Income tax is decided by :

(A) Income Tax Act, 1961

(B) Central Government

(C) Annual Finance Act

(D) State Governments

91. th,lVh esa lfEefyr ugha gqvk %

(A) LVkEi M~;wVh

(B) oSV

(C) izos'k dj

(D) euksjatu dj

92. vkbZth,lVh vnk fd;k tkrk gS tc vkiwfrZ
gS %

(A) varjjkT;h;

(B) jkt;kUrxZr

(C) varj&dsUnz'kkflr izns'k

(D) mijksDr lHkh

93. ^^fDoM izks D;ks** vko';d gS %

(A) izR;{k dj ds ekeys esa

(B) vizR;{k dj ds ekeys esa

(C) 'kqYd ds ekeys esa

(D) lsl ds ekeys esa

94. fuEufyf[kr esa ls dkSu fof/kd fdUrq vuSfrd
gS\

(A) dj vioapu

(B) dj ifjgkj

(C) dj ;kstuk

(D) /ku pksjh

95. vk;dj dh nj dk fu.kZ; fd;k tkrk gS %

(A) vk;dj vf/kfu;e] 1961 }kjk

(B) dsUnzh; ljdkj }kjk

(C) okf"kZd foRr vf/kfu;e }kjk

(D) jkT; ljdkjksa }kjk

[P.T.O.]
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96. Bonus is :

(A) Fully exempted

(B) Fully taxable

(C) Partly taxable

(D) Partly exempted

97. Salary is defined in :

(A) Section 15

(B) Section 16(1)

(C) Section 17(1)

(D) Section 14

98. RPF in Income Tax is :

(A) Recognised Provident Fund

(B) Recognised Policy Fund

(C) Reserve Provident Fund

(D) Railway Provident Fund

99. From Financial year 2021-22, interest on

employee's contribution in RPF in excess

of _____ per annum will be taxable.

(A)  2,50,000/-

(B)  1,50,000/-

(C)  2,40,000/-

(D)  3,50,000/-

100. HRA is :

(A) High Rent Allowance

(B) House Rate Allowance

(C) House Rent Allowance

(D) House Rate Acquired.

96. cksul %

(A) iw.kZr% djeqDr gS

(B) iw.kZr% dj ;ksX; gS

(C) vkaf'kd dj ;ksX; gS

(D) vkaf'kd djeqDr gS

97. osru ifjHkkf"kr fd;k x;k gS %

(A) /kkjk 15 esa

(B) /kkjk 16(1) esa

(C) /kkjk 17(1) esa

(D) /kkjk 14 esa

98. vk;dj esa vkjih,Q gS %

(A) ekU;rk izkIr Hkfo"; fuf/k

(B) ekU;rk izkIr uhfr fuf/k

(C) vkjf{kr Hkfo"; fuf/k

(D) jsyos Hkfo"; fuf/k

99. foRrh; o"kZ 2021-22 ls] vkjih,Q esa deZpkjh
va'knku esa izfro"kZ &&&&& ls vf/kd ij C;kt
dj ;ksX; gksxkA

(A)  2,50,000/-

(B)  1,50,000/-

(C)  2,40,000/-

(D)  3,50,000/-

100. ,p-vkj-,- gS %

(A) mPp fdjk;k HkRrk

(B) edku nj HkRrk

(C) edku fdjk;k HkRrk

(D) vftZr edku nj
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Rough Work @ jQ dk;Z



Example :

Question :

Q.1

Q.2

Q.3

4. Each question carries equal marks.
Marks will be awarded according to the
number of correct answers you have.

5. All answers are to be given on OMR
Answer Sheet only. Answers given
anywhere other than the place specified
in the answer sheet will not be
considered valid.

6. Before writing anything on the OMR
Answer Sheet, all the instructions given
in it should be read carefully.

7. After the completion of the examination,
candidates should leave the examination
hall only after providing their OMR
Answer Sheet to the invigi lator.
Candidate can carry their Question
Booklet.

8. There will be no negative marking.

9. Rough work, if any, should be done on
the blank pages provided for the purpose
in the booklet.

10. To bring and use of log-book, calculator,
pager & cellular phone in examination
hall is prohibited.

11. In case of any difference found in English
and Hindi version of the question, the
English version of the question will be
held authentic.

Impt. On opening the question booklet,
first check that all the pages of the question
booklet are printed properly. If there is any
discrepancy in the question Booklet, then
after showing it to the invigilator, get another
question Booklet of the same series.

mnkgj.k %

iz'u %

iz'u 1

iz'u 2

iz'u 3

4. izR;sd iz'u ds vad leku gSaA vkids ftrus mÙkj
lgh gksaxs] mUgha ds vuqlkj vad iznku fd;s tk;saxsA

5. lHkh mÙkj dsoy vks0,e0vkj0 mÙkj&i=d
(OMR Answer Sheet) ij gh fn;s tkus gSaA
mÙkj&i=d esa fu/kkZfjr LFkku ds vykok vU;=
dgha ij fn;k x;k mÙkj ekU; ugha gksxkA

6. vks0,e0vkj0 mÙkj&i=d (OMR Answer

Sheet) ij dqN Hkh fy[kus ls iwoZ mlesa fn;s x;s
lHkh vuqns'kksa dks lko/kkuhiwoZd i<+ fy;k tk;sA

7. ijh{kk lekfIr ds mijkUr ijh{kkFkhZ d{k fujh{kd

dks viuh OMR Answer Sheet miyC/k djkus

ds ckn gh ijh{kk d{k ls izLFkku djsaA ijh{kkFkhZ

vius lkFk iz'u&iqfLrdk ys tk ldrs gSaA

8. fuxsfVo ekfdZax ugha gSA

9. dksbZ Hkh jQ dk;Z] iz'u&iqfLrdk esa] jQ&dk;Z ds
fy, fn, [kkyh ist ij gh fd;k tkuk pkfg,A

10. ijh{kk&d{k esa ykWx&cqd] dSYdqysVj] istj rFkk lsY;qyj
Qksu ys tkuk rFkk mldk mi;ksx djuk oftZr gSA

11. iz'u ds fgUnh ,oa vaxzsth :ikUrj.k esa fHkUurk gksus

dh n'kk esa iz'u dk vaxzsth :ikUrj.k gh ekU;

gksxkA
egRoiw.kZ% iz'uiqfLrdk [kksyus ij izFker% tk¡p dj
ns[k ysa fd iz'uiqfLrdk ds lHkh i`"B HkyhHkk¡fr Nis
gq, gS aA ;fn iz'uiqfLrdk es a dk sb Z deh gk s] rk s
d{kfujh{kd dk s fn[kkdj mlh fljht dh nwljh
iz'uiqfLrdk izkIr dj ys aA
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A C D

B

A C D

A D

A C D
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